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() Rty B—EETaATEMER? (a)Control Unit
(b) Arithmetic Logic Unit (¢) Memory Unit  (d) Computation Unit

2. () Which searching method is the slower? (a) Quicksort
(b) Binary search (c) Bubble sort  (d) none of the above

3. { ) How many different symbols can be encoded using Unicode? (a) 256
(b) 4096 (c) 65536 (d) 1046476

4. () Using a two’s complement notation system in which each value is
represented by a pattern of six bits, represent the value -3, (a) 111101
(b) 000010 (c) 000011 (d) 100011
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Coupling and cohesion are two main concepts when a system is divided into

modules. Please describe those concepts.
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A list, <16, 5, 7, 9, 11, 8>, contains the elements. Using the binary search
algorithm, trace the steps followed to find 5. At each step, show the values of
first, last, and mid. If the steps are not traced, describe the reasons.
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Please describe the following concepts in software quality.
(a) maintainability

(b) transferability

WAL (AR S 0 10 9)

(a) What is a stack?

(b) Please give an application for a stack and describe why the application is
employed with a stack.

KAt (10 5)

Please describe the difference between a binary tree and a binary search tree.

AN (10 &)
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Coupling is a measure of how tightly two modules are bounded to each other. The
more tightly coupled, the less independent they are.

Cohesion is a measure of how closely the modules in a system are related. We
need to have maximum possible cohesion between modules in a software system.

WA (10 5)

That list is not sorted in order. The binary search cannot be used.
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Maintainability refers to the ease with which a system can be kept up to date and
running correctly.

Transferability refers to the ability to move data and/or a system from one plat
form to another and to reuse code.

AN (RS 5 H 1045
(a) A stack is a restricted linear list in which all additions and deletions are made at
one end, the top.

(b)Stack of coins, stack of books, computer stack. If we want to remove an object
other than the one at the top, we must first remove all objects above it.

A (10 5)

A binary tree is a tree in which a node cannot have more than two subtrees. In
other words, a node can have zero, one, or two sub trees,

A binary search tree is a binary tree with one extra property: the key value of

each node is greater than the key values of all nodes in each left subtrees and
smaller than the values of all nodes in each right subtree.

SAEA 10 5
F(W,X,Y,Z)= WXYZ+ WXYZ+ WXYZ+ WXYZ
= WXZ(Y + Y) + WXZ(Y +Y)
= WXZ + WXZ
= XZ(W + W)
=XZ

A (10 9)

Rotation Time = (1 /(-7399)) X b X 1o 4.2ms
60 2 120 2
Transation Time = l>< ! x5000 = lms
024

Access Time = Seek Time + Rotation Time + Transaction Time
= 10ms + 4.2ms + lins =152ms



